Crash Course U.S. Government - Day 83

1. Why was it called a “cold” war?

2. What were the two superpowers involved in the Cold War?
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3. How long did the Cold War era last?

4. Who led the USSR at the beginning of the Cold War?

5. What was the USA trying to “contain”?

6. When was the Berlin wall built?

7. Why did Truman’s “Fair Deal” fail to pass?

8. How did the USSR develop nuclear weapons so quickly?

9. Senator Joseph McCarthy accused hundreds of people of being communists in something called
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Answers

. Because it did not ‘heat up’ in to armed conflict like a regular war
. The USA and the USSR

. From 1945 to 1990

. Joseph Stalin

. communism

. 1961

. Because opponents cast is as a socialist or communist program

. Spies leaked research and information to them

. Red Scare

lessonplanofhappiness.com



